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Jennije’s council has a target of E for households to
recycle theijr waste,

. In January, Jennie récycled 0.1 of her waste

. In February, She recycled 15 kg of her 120 kg of

. Her resuylt in March was 139, récycled out of
112kg of household waste.,

Zara s the Manager of 3 shop. The table gives the €xpenses iners. There are 3 shops
the shop had last year, Sam wants to buy new tljalner . e
that sell the trainers she w
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*  Wages will increase by 7.59% Plus £70 plus
of % VAT
*  The rent will pe 7/9 of the rent |ast year 12 p?;mSe;tS 20%
. The other €Xpenses wi| halve, :
Zara wants to increase the Money she spends on goods BUT et the best deal?
wants the totg| €Xpenses the shop has to spend to be the Same From which shop would Sam g
as last year.
Can she increase the amount of money she SPends on goods? ©JustMaths 2014

www.justmaths.co.uk



